gonal cross lines on the remaining blank pages.

Important Note : 1. On completing your answers, compulsorily draw dia;

| Tlme 3hrs

50, will be treated as malpractice.

, appeal to evaluator and /or equations written eg, 42+8

2. Any revealing of identification
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Fourth Semester B.E. Degree Exalgmaﬁon, Feb./Mar. 2022
; Design and Analysus afAlgorlthms

Max Marks: 100

Note: Answer any FIVE full questwns c;t ésmg ONE full questwn ﬁ'om each module.
o)

=3

C.

Module- ‘
Explain orders of growth for Taxge input size and wrlte vaiues of following functions for
analysis of algonthms R4 .

Logon, n, n?, n°, 2° n! ¢ (10 Marks)

Explain asymptotxc n%&%@ﬁs of algorithms with %ap (06 Marks)

Define space complexify of algorithms with exampIe (04 Marks)
OR

Write general plan for analyzing time eﬂiclency of non-recursive algorithms and find the

running time of matrix multiplication algorithm. (10 Marks)

Write short note on stacks, queues; ”graphs trees and sets. (10 Marks)

i

A AY

> Module-2

s

74,32, 18, 12, 76, 14, 23, 28 10 (10 Marks)
Sort the following numbers using Quick sort a@lgorlthm
54,26, 93, 17, 77,31, 44, 55, 20 \ (10 Marks)

Solve the following matrix multlphcatlon using Strassen’s matrix multiplication method:

A= e g B= e G‘FA’XB (10 Marks)
5 6 1 35

el

Fig.Q.4(b)

Write the MaxMin diyi&e and conquer algorithm. (05 Marks)
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Module-3
a. Solve the following Job sequencing with deadline problem and find the maximum profit:

Jobs J1.p12 |13 IS J6 | J7 | 18 | J9
Profit 85|25
Deadline | 5 | 4

» (10 Marks)
b. Construct a Huffman Tree for the followmg/data and obtain its Huffm de:
Character { a 4
Frequency | 57| 9
‘1> (10 Marks)
OR :
a. Define minimum cost spam%ing tree and find the mmlmum cost spanning tree for the
following group using Kmskaf’s algorlthéns (10 Marks)

fm a«f 1

(10 Marks)

“ Fig.Q.7(a)
b. Solve the fa%ovvmg Knapsack IKOJ m using Dynamic programming:
Knapsack%apamty wW=5
Item | Weight Value

1 2 12
- 2 1 10
3 3 20
o 41 3 15
-~ * (10 Marks)
W‘j
20f3
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OR

8 a. Find all pairs shortest path for the following graph usin; d’s algorithm:

o Ww
; R’ (10 Marks)

(10 Marks)

9 a I-the possible subsets of W that sum to
(08 Marks)
b. (02 Marks)
C. (10 Marks)
10 a. Solve the followmgass1gnment problem usmg Branch and Bound technique:
, “[Jobl [ Job2 [ Job3 [:Job4

A‘ 9 2 7¢| 8

Person B| 6 4 403 7

PersonC | 5 | 8 [;'1 8

L@son D| 7 6 | 9 4
“ y (10 Marks)
b. @ra@ the state-space tree@f solving the fpﬁ%ﬁiﬁ’ﬁeen using Backtracking. (05 Marks)

c. &‘“&erte short note onr L&“Prmch and Bound solutions. (05 Marks)
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